APPB

Filter II

Now that we have the group’s data and a function that models the falling filter, we need to discover the velocity and acceleration of the filter.
1. Determine the average velocity of the filter between 0.4 and 0.5 seconds.

2. Repeat the process for the time interval [0.5 sec, 0.6 sec]. 

3. Now determine the acceleration. 

4. Find this number in your equation.

5. Is the acceleration constant? 
6. Look at the inverse of your function. 
7. What is the meaning of the parameters in the inverse? Now we want the correct data for a falling filter. 

8. Repeat the experiment and get the fall of a filter for at least 50 centimeters with the CBR.

9. Get the equation for the filter, height vs. time.

10.  Identify the initial velocity and acceleration.
David A. Young
page 1
08/24/2005

